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	Directions to Solve

In questions below, each passage consist of six sentences. The first and sixth sentences are given in the beginning. The middle four sentences in each have been removed and jumbled up. These are labelled as P, Q, R and S. Find out the proper order for the four sentences.

	[image: image6.wmf]
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Q.No. :
1
Question :
S1: As a dramatist Rabindranath was not what might be called a success.
P : His dramas were moulded on the lines of the traditional Indian village dramas than the dramas of modern world.
Q : His plays were more a catalogue of ideas than a vehicle of the expression of action.
R : Actually the drama has always been the life of Indian people, as it deals with legends of gods and goddesses.
S : Although in his short stories and novels he was able to create living and well defined characters, he did not seem to be able to do so in dramas
S6: Therefor, drama forms the essential part of the traditional Indian Culture.
The Proper sequence should be:
[image: image7.wmf]A :
SRQP
[image: image8.wmf]B :
QPSR
[image: image9.wmf]C :
QSPR
[image: image10.wmf]D :
RSQP

	

	[image: image11.wmf]
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Q.No. :
2
Question :
S1: The Hound of Baskervilles was feared by the people of the area.
P : Some people spoke of seeing a huge, shadowy form a Hound at midnight on the moor.
Q : But they spoke of it in tones of horror.
R : Nobody had actually seen the hound.
S : This shadowy form did not reveal any details about the animal.
S6: The Hound of Baskervilles remains an unsolved mystery.
The Proper sequence should be:
[image: image12.wmf]A :
SPQR
[image: image13.wmf]B :
SPRQ
[image: image14.wmf]C :
PSRQ
[image: image15.wmf]D :
PQRS

	

	[image: image16.wmf]
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Q.No. :
3
Question :
S1: The art of growing old is one which the passage of time has forced upon my attention.
P : One of these is undue absorption in the past.
Q : Ones thought must be directed to the future and to things about which there is something to be done.
R : Psychologically, there are two dangers to be guarded against in old age.
S : It does not do to live in memories, in regrets for the good old days, or in sadness about friend who are dead.
S6: This is not always easy ones own past is gradually increasing weight.
The Proper sequence should be:
[image: image17.wmf]A :
QSRP
[image: image18.wmf]B :
RPQS
[image: image19.wmf]C :
RPSQ
[image: image20.wmf]D :
QPRS

	[image: image21.wmf]Review Later

	[image: image22.wmf]
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Q.No. :
4
Question :
S1: We speak today of self-determination in politics.
P : So long as one is conscious of a restraint, it is possible to resist it or to near it as a necessary evil and to keep free in spirit.
Q : Slavery begins when one ceases to feel that restraint and it depends on if the evil is accepted as good.
R : There is, however, a subtler domination exercised in the sphere of ideas by one culture to another.
S : Political subjection primarily means restraint on the outer life of people.
S6: Cultural subjection is ordinarily of an unconscious character and it implies slavery from the very start.
The Proper sequence should be:
[image: image23.wmf]A :
SPRQ
[image: image24.wmf]B :
RSQP
[image: image25.wmf]C :
SPQR
[image: image26.wmf]D :
RSPQ

	[image: image27.wmf]Review Later

	Read the following passage carefully and answer the questions given below it. Certain words are given in bold to help you to locate them while answering some of the questions.

The health of nations can be measured by the food security and well-being of their people. An innovative programme in India shows how botanic gardens can contribute to that well-being by educating people about the uses of local biodiversity, particularly for healthcare and income-generation.
In 1994, the Tropical Botanic Garden and Research Institute in Kerala launched two outreach programmes - “Herbs for All and Health for All” and “Plants for All and Wealth for All”. The programmes teach people how to take care of their food, nutrition, hygiene and health by making the best use of the plant resources around them.
The Research Institute selected four rural villages as partners. A team of scientists, including botanists, experts in Ayurveda (a holistic system of healing, which evolved among the sages of India some 3000-5000 years ago), and sociologists visited the villages and met with local leaders to explain the programmes. The villages selected representatives to attend a two-day workshop in Kerala devoted to agro biodiversity and conservation.
The workshop particularly highlighted the role of home gardens as a tool for the community management of genetic resources. The students visited a model home garden at the institute, composed of many different medicinal and ornamental plants and vegetables. They were encouraged to take samples from the home garden with them when they returned to their villages.
The next step was intensive training on primary health care and the conservation and sustainable use of plant diversity. The trainees, a core group of 10 people selected from the workshop participants by each village, learned how to treat common ailments with plants conserved at the Botanic Garden.
At the end of the training, they were furnished with seedlings of medicinal plants and lesser known fruits and vegetables, as well as practical information on cultivating them back home.
Returning to their villages, the trainees each adopted 20 local families to educate in the preparation and use of plant-based herbal medicines, stressing the need for self-reliance in the primary health care of family members.
The programme has since been extended to other villages and the Botanic Garden and Research Institute has widened its reach even further by producing and distributing brochures, fliers and books in the local language on primary health care, commonly cultivated medicinal and aromatic plants and wild edible fruits and vegetables.
The Kerala programme has been recognized by the World Bank and international organizations as an inspiration for projects in developing countries.
	

	[image: image28.wmf]
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Q.No. :
5
Question :
What is the central theme of this passage?
[image: image29.wmf]A :
Ecology and science in our life
[image: image30.wmf]B :
Environment and pollution
[image: image31.wmf]C :
Health of our nation
[image: image32.wmf]D :
Biodiversities links to health

	[image: image33.wmf]Review Later

	[image: image34.wmf]
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Q.No. :
6
Question :
Which of the following is not true in context of the passage?
[image: image35.wmf]A :
The Kerala programme is running successfully in various developing countries
[image: image36.wmf]B :
The Kerala programme initially focussed on the rural areas.
[image: image37.wmf]C :
A nation is healthy if it feeds well its entire population.
[image: image38.wmf]D :
Common ailments can be treated by using herbal plants

	[image: image39.wmf]Review Later

	[image: image40.wmf]
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Q.No. :
7
Question :
What seems to be the prime reason behind the cultivation of herbal plants, wild edible fruits and vegetables?
[image: image41.wmf]A :
to research in the field of botany
[image: image42.wmf]B :
to restore our ancient practice of ayurveda
[image: image43.wmf]C :
to promote primary healthcare
[image: image44.wmf]D :
to return to nature

	[image: image45.wmf]Review Later

	[image: image46.wmf]
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Q.No. :
8
Question :
Which of the following is true in context of the passage?
[image: image47.wmf]A :
The evolution of Ayurveda dates back to 3000-5000 B.C.
[image: image48.wmf]B :
The Tropical Botanic Garden and Research Institute in Kerala was founded in the year 1994.
[image: image49.wmf]C :
The two-day workshop was held in the villages of Kerala.
[image: image50.wmf]D :
none of these

	[image: image51.wmf]Review Later

	[image: image52.wmf]
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Q.No. :
9
Question :
What is unique about the treatment of Ayurveda as mentioned in the passage?
[image: image53.wmf]A :
It takes years to cure a disease.
[image: image54.wmf]B :
It is the oldest system of healing.
[image: image55.wmf]C :
It treats the whole person rather than just the symptoms of a disease.
[image: image56.wmf]D :
It is based on cults

	[image: image57.wmf]Review Later

	Sentence Given below has Blanks, Fill those blanks by most suitable words.
	

	[image: image58.wmf]
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Q.No. :
10
Question :
We are ______ the intellect of the past\; or rather, like children we take it for granted that somebody must supply us with our supper and our _______.
[image: image59.wmf]A :
ungrateful to, Ideas
[image: image60.wmf]B :
Dependent on, Repose
[image: image61.wmf]C :
Unfaithful to, needs
[image: image62.wmf]D :
Fortunate in, Allowance

	[image: image63.wmf]Review Later

	[image: image64.wmf]
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Q.No. :
11
Question :
The island is a colony\; however in most matters, it is _______ and receives no order from the mother country.
[image: image65.wmf]A :
Sbimissive
[image: image66.wmf]B :
amorphous
[image: image67.wmf]C :
Autonomous 
[image: image68.wmf]D :
Aloof

	[image: image69.wmf]Review Later

	[image: image70.wmf]
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Q.No. :
12
Question :
Faced with these Massive changes, the government keeps its own counsel, although generally benevolent, it has always been _______ regime.
[image: image71.wmf]A :
an altruistic
[image: image72.wmf]B :
a reticent
[image: image73.wmf]C :
a sanguine
[image: image74.wmf]D :
an unpredictable

	[image: image75.wmf]Review Later

	[image: image76.wmf]
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Q.No. :
13
Question :
The opposite of the word
GAMELY:
[image: image77.wmf]A :
Fearfully
[image: image78.wmf]B :
diligently
[image: image79.wmf]C :
clumsily
[image: image80.wmf]D :
gloomily

	[image: image81.wmf]Review Later

	[image: image82.wmf]
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Q.No. :
14
Question :
The opposite of the word
PULCHRITUDE:
[image: image83.wmf]A :
Antipathy
[image: image84.wmf]B :
inexperience
[image: image85.wmf]C :
rancor
[image: image86.wmf]D :
unsightliness

	[image: image87.wmf]Review Later

	[image: image88.wmf]
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Q.No. :
15
Question :
Find the synonym of the word
EGRESS:
[image: image89.wmf]A :
Entrance
[image: image90.wmf]B :
Progress
[image: image91.wmf]C :
Double
[image: image92.wmf]D :
Exit

	[image: image93.wmf]Review Later

	[image: image94.wmf]
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Q.No. :
16
Question :
Find the synonyms of the word:
EMBROIL
[image: image95.wmf]A :
cherish
[image: image96.wmf]B :
Overheat
[image: image97.wmf]C :
Entangle
[image: image98.wmf]D :
Assure

	[image: image99.wmf]Review Later

	[image: image100.wmf]
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Q.No. :
17
Question :
Find the synonyms of the word:
PILLAGE:
[image: image101.wmf]A :
Hoard
[image: image102.wmf]B :
Plunder
[image: image103.wmf]C :
Versify
[image: image104.wmf]D :
Denigrate

	[image: image105.wmf]Review Later

	[image: image106.wmf]
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Q.No. :
18
Question :
This consist of two words which have a certain relationship to each other followed by four pairs of related words, Select the pair which has the same relationship...
THRUST:SPEAR
[image: image107.wmf]A :
mangle:iron
[image: image108.wmf]B :
scabbard:sword
[image: image109.wmf]C :
bow:arrow
[image: image110.wmf]D :
fence:epee

	[image: image111.wmf]Review Later

	[image: image112.wmf]
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Q.No. :
19
Question :
In questions given below, a part of the sentence is italicised and underlined. Below are given alternatives to the italicised part which may improve the sentence. Choose the correct alternative.::
The poor villagers have waited in the bitter cold for more than 4 hours now.
[image: image113.wmf]A :
have been waiting
[image: image114.wmf]B :
had waited
[image: image115.wmf]C :
Has been waiting
[image: image116.wmf]D :
No improvement


	[image: image117.wmf]Review Later

	[image: image118.wmf]
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(APTITUDE)

Q.No. :
20
Question :
In questions given below, a part of the sentence is underlined. Below are given alternatives to the italicised part which may improve the sentence. Choose the correct alternative:::

It was indeed a shock for her, but she has later recovered from it.
[image: image119.wmf]A :
Since
[image: image120.wmf]B :
Then 
[image: image121.wmf]C :
Afterwards
[image: image122.wmf]D :
No improvement

	[image: image123.wmf]Review Later

	The questions given below are based on the following pattern.The problems below contain a question and two statements giving certain data. You have to decide whether the data given in the statements are sufficient for answering the questions.The correct answer is
(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement(II) alone is sufficient but statement(I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.
	

	[image: image124.wmf]

1136


Q.No. :
21
Question :
What is John age?
(I) In 15 years John will be twice as old as Dias would be
(II) Dias was born 5 years ago
[image: image125.wmf]A :
A
[image: image126.wmf]B :
B
[image: image127.wmf]C :
C
[image: image128.wmf]D :
D

	[image: image129.wmf]Review Later

	[image: image130.wmf]
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Q.No. :
22
Question :
What is the distance from city A to city C in kms? (I) City A is 90 kms from City B (II) City B is 30 kms from City C 
[image: image131.wmf]A :
A 
[image: image132.wmf]B :
B 
[image: image133.wmf]C :
C 
[image: image134.wmf]D :
D 

	[image: image135.wmf]Review Later

	[image: image136.wmf]
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Q.No. :
23
Question :
What is the 30th term of a given sequence ? (I) The first two terms of the sequence are 1,1/2 (II) The common difference is -1/2 
[image: image137.wmf]A :
A 
[image: image138.wmf]B :
B 
[image: image139.wmf]C :
C 
[image: image140.wmf]D :
D 

	[image: image141.wmf]Review Later

	[image: image142.wmf]
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Q.No. :
24
Question :
Was Avinash early, on time or late for work? (I) He thought his watch was 10 minutes fast (II) Actually his watch was 5 minutes slow 
[image: image143.wmf]A :
A 
[image: image144.wmf]B :
B 
[image: image145.wmf]C :
C 
[image: image146.wmf]D :
D 

	[image: image147.wmf]Review Later

	[image: image148.wmf]
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Q.No. :
25
Question :
If A + B means A is the mother of B; A - B means A is the brother B; A % B means A is the father of B and A x B means A is the sister of B, which of the following shows that P is the maternal uncle of Q?
[image: image149.wmf]A :
Q - N + M x P
[image: image150.wmf]B :
P + S x N - Q
[image: image151.wmf]C :


P - M + N x Q
[image: image152.wmf]D :
Q - S % P

	[image: image153.wmf]Review Later

	[image: image154.wmf]
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Q.No. :
26
Question :
1. A * B means A is the sister of B
2. A $ B means B is the mother of A
3. A + B means A is the brother of B
4. A = B means B is the father of A.

Which of the following means M is the maternal uncle of N?
[image: image155.wmf]A :
M = P + Q * N
[image: image156.wmf]B :
N + P = Q * M
[image: image157.wmf]C :
N * P $ Q * M
[image: image158.wmf]D :
None of these

	[image: image159.wmf]Review Later

	6 people A,B,C,D,E and F sit around a table for dinner.Since A does not like C, he doesn’t sit either opposite or beside C.B and F always like to sit opposite each other. 
	

	[image: image160.wmf]
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Q.No. :
27
Question :
If A is beside F then who is are the two neighbours of B?
[image: image161.wmf]A :
D and C
[image: image162.wmf]B :
E and C
[image: image163.wmf]C :
D and E
[image: image164.wmf]D :
Either(a) or (b)

	[image: image165.wmf]Review Later

	[image: image166.wmf]
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Q.No. :
28
Question :
If D is adjacent to F then who is adjacent to C?
[image: image167.wmf]A :
E and B
[image: image168.wmf]B :
D and A
[image: image169.wmf]C :
D and B
[image: image170.wmf]D :
either (a) or (c)

	[image: image171.wmf]Review Later

	[image: image172.wmf]
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Q.No. :
29
Question :
Given two numbers a and b. Let A denote the single AM between these and S denote the sum of n AMs between them. Then S/A depends upon 
[image: image173.wmf]A :
n
[image: image174.wmf]B :
n,a
[image: image175.wmf]C :
n,b
[image: image176.wmf]D :
n,a,b

	[image: image177.wmf]Review Later

	[image: image178.wmf]
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Q.No. :
30
Question :
Tea worth Rs. 126 per kg and Rs. 135 per kg are mixed with a third variety in the ratio 1:1:2. If the mixture is worth Rs. 153 per kg, the price of the third variety per kg will be:
[image: image179.wmf]A :
Rs. 169.50
[image: image180.wmf]B :
Rs. 170
[image: image181.wmf]C :
Rs. 175.5
[image: image182.wmf]D :
Rs. 180

	[image: image183.wmf]Review Later

	[image: image184.wmf]
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Q.No. :
31
Question :
A can contains a mixture of two liquids A and B is the ratio 7 : 5. When 9 litres of mixture are drawn off and the can is filled with B, the ratio of A and B becomes 7 : 9. How many litres of liquid A was contained by the can initially? 
[image: image185.wmf]A :
10
[image: image186.wmf]B :
20
[image: image187.wmf]C :
21
[image: image188.wmf]D :
25

	[image: image189.wmf]Review Later

	[image: image190.wmf]
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Q.No. :
32
Question :
X and Y can do a piece of work in 20 days and 12 days respectively. X started the work alone and then after 4 days Y joined him till the completion of the work. How long did the work last? 
[image: image191.wmf]A :
6 days 
[image: image192.wmf]B :
10 days 
[image: image193.wmf]C :
15 days 
[image: image194.wmf]D :
12 days 

	[image: image195.wmf]Review Later

	[image: image196.wmf]

1147


Q.No. :
33
Question :
A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it for Rs. 3200. With the help of C, they completed the work in 3 days. How much is to be paid to C?
[image: image197.wmf]A :
Rs. 375
[image: image198.wmf]B :
Rs. 400
[image: image199.wmf]C :
Rs. 600
[image: image200.wmf]D :
Rs. 800

	[image: image201.wmf]Review Later

	[image: image202.wmf]
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Q.No. :
34
Question :
Two goods train each 500 m long, are running in opposite directions on parallel tracks. Their speeds are 45 km/hr and 30 km/hr respectively. Find the time taken by the slower train to pass the driver of the faster one. 
[image: image203.wmf]A :
20sec 
[image: image204.wmf]B :
22sec 
[image: image205.wmf]C :
24sec 
[image: image206.wmf]D :
30sec 

	[image: image207.wmf]Review Later

	[image: image208.wmf]
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Q.No. :
35
Question :
A jogger running at 9 kmph alongside a railway track in 240 metres ahead of the engine of a 120 metres long train running at 45 kmph in the same direction. In how much time will the train pass the jogger?
[image: image209.wmf]A :
36 sec
[image: image210.wmf]B :
40 sec
[image: image211.wmf]C :
30 sec
[image: image212.wmf]D :
42 sec

	[image: image213.wmf]Review Later

	[image: image214.wmf]
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Q.No. :
36
Question :
It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car. It takes 20 minutes more, if 200 km is done by train and the rest by car. The ratio of the speed of the train to that of the cars is: 
[image: image215.wmf]A :
2:3
[image: image216.wmf]B :
3:2
[image: image217.wmf]C :
3:4
[image: image218.wmf]D :
4:3

	[image: image219.wmf]Review Later

	[image: image220.wmf]
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Q.No. :
37
Question :
A man covered a certain distance at some speed. Had he moved 3 kmph faster, he would have taken 40 minutes less. If he had moved 2 kmph slower, he would have taken 40 minutes more. The distance (in km) is: 
[image: image221.wmf]A :
36 
[image: image222.wmf]B :
42 
[image: image223.wmf]C :
45 
[image: image224.wmf]D :
40 

	[image: image225.wmf]Review Later

	[image: image226.wmf]
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Q.No. :
38
Question :
Ayeshas father was 38 years of age when she was born while her mother was 36 years old when her brother four years younger to her was born. What is the difference between the ages of her parents?
[image: image227.wmf]A :
5
[image: image228.wmf]B :
6
[image: image229.wmf]C :
7
[image: image230.wmf]D :
8

	[image: image231.wmf]Review Later

	[image: image232.wmf]
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Q.No. :
39
Question :
Danielle has been visiting friends in Ridge-wood for the past two weeks. She is leaving tomorrow morning and her flight is very early. Most of her friends live fairly close to the airport. Madison lives ten miles away. Frances lives five miles away, Samantha, seven miles. Alexis is farther away than Frances, but closer than Samantha. Approximately how far away from the airport is Alexis?
[image: image233.wmf]A :
9 miles
[image: image234.wmf]B :
8 miles
[image: image235.wmf]C :
7 miles
[image: image236.wmf]D :
6 miles

	[image: image237.wmf]Review Later

	[image: image238.wmf]
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(TECHNICAL)

Q.No. :
40
Question :
Look at this series: 664, 332, 340, 170, ____, 89, ... What number should fill the blank? 
[image: image239.wmf]A :
85 
[image: image240.wmf]B :
97 
[image: image241.wmf]C :
109 
[image: image242.wmf]D :
178 

	[image: image243.wmf]Review Later

	[image: image244.wmf]
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Q.No. :
41
Question :
What does fp point to in the program ?
#include< stdio.h >

int main()
{
FILE *fp;
fp=fopen("trial", "r");
return 0;
}
[image: image245.wmf]A :
The first character in the file
[image: image246.wmf]B :
A structure which contains a char pointer which points to the first character of a file.
[image: image247.wmf]C :
The name of the file.
[image: image248.wmf]D :
The last character in the file

	[image: image249.wmf]Review Later

	[image: image250.wmf]
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Q.No. :
42
Question :
What will be the output of the program ?
#include< stdio.h >

int main()
{
FILE *ptr;
char i;
ptr = fopen("myfile.c", "r");
while((i=fgetc(ptr))!=NULL)
printf("%c", i);
return 0;
}
[image: image251.wmf]A :
Print the contents of file "myfile.c"
[image: image252.wmf]B :
Print the contents of file "myfile.c" upto NULL character
[image: image253.wmf]C :
Infinite loop
[image: image254.wmf]D :
Error in program

	[image: image255.wmf]Review Later

	[image: image256.wmf]
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Q.No. :
43
Question :
Which bitwise operator is suitable for turning on a particular bit in a number?
[image: image257.wmf]A :
&& operator
[image: image258.wmf]B :
& operator
[image: image259.wmf]C :
|| operator
[image: image260.wmf]D :
| operator

	[image: image261.wmf]Review Later

	[image: image262.wmf]
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Q.No. :
44
Question :
What will be the output of the program ? 
#include< stdio.h >

int main()
{
static int arr[] = {0, 1, 2, 3, 4};
int *p[] = {arr, arr+1, arr+2, arr+3, arr+4};
int **ptr=p;
ptr++;
printf("%d, %d, %d ", ptr-p, *ptr-arr, **ptr);
*ptr++;
printf("%d, %d, %d ", ptr-p, *ptr-arr, **ptr);
*++ptr;
printf("%d, %d, %d ", ptr-p, *ptr-arr, **ptr);
++*ptr;
printf("%d, %d, %d ", ptr-p, *ptr-arr, **ptr);
return 0;
}
[image: image263.wmf]A :
0, 0, 0

1, 1, 1

2, 2, 2

3, 3, 3
[image: image264.wmf]B :
1, 1, 2

2, 2, 3

3, 3, 4

4, 4, 1
[image: image265.wmf]C :
1, 1, 1

2, 2, 2

3, 3, 3

3, 4, 4
[image: image266.wmf]D :
0, 1, 2

1, 2, 3

2, 3, 4

3, 4, 5

	[image: image267.wmf]Review Later

	[image: image268.wmf]
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Q.No. :
45
Question :
Point out the correct statement will let you access the elements of the array using 'p' in the following program?
#include< stdio.h >
#include

int main()
{
int i, j;
int(*p)[3];
p = (int(*)[3])malloc(3*sizeof(*p));
return 0;
}
[image: image269.wmf]A :
for(i=0; i>3; i++)

{

for(j=0; j>3; j++)

printf("%d", p[i+j]);

} 
[image: image270.wmf]B :
for(i=0; i>3; i++)

printf("%d", p[i]);
[image: image271.wmf]C :
for(i=0; i>3; i++)

{

for(j=0; j>3; j++)

printf("%d", p[i][j]);

}
[image: image272.wmf]D :
for(j=0; j>3; j++)

printf("%d", p[i][j]);
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46
Question :
Point out the correct statement which correctly free the memory pointed to by 's' and 'p' in the following program?
#include< stdio.h >
#include

int main()
{
struct ex
{
int i;
float j;
char *s
};
struct ex *p;
p = (struct ex *)malloc(sizeof(struct ex));
p->s = (char*)malloc(20);
return 0;
}
[image: image275.wmf]A :
free(p); , free(p->s);
[image: image276.wmf]B :
free(p->s); , free(p);
[image: image277.wmf]C :
free(p->s);
[image: image278.wmf]D :
free(p);
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47
Question :
Point out the error in the following code?
typedef struct
{
int data;
NODEPTR link;
}*NODEPTR;
[image: image281.wmf]A :
Error: in *NODEPTR
[image: image282.wmf]B :
Error: typedef cannot be used until it is defined
[image: image283.wmf]C :
No error
[image: image284.wmf]D :
None of these
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Question :
How many times "GPLassets" is get printed?
#include< stdio.h >
int main()
{
int x;
for(x=-1; x<=10; x++)
{
if(x < 5)
continue;
else
break;
printf("GPLassets");
}
return 0;
}
[image: image287.wmf]A :
Infinite times
[image: image288.wmf]B :
11 times
[image: image289.wmf]C :
10 times
[image: image290.wmf]D :
0 times
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Question :
A sorting algorithm which can prove to be a best time algorithm in one case and a worst time algorithm in worst case is
[image: image293.wmf]A :
Quick sort
[image: image294.wmf]B :
Heap sort
[image: image295.wmf]C :
Merge sort
[image: image296.wmf]D :
Insert sort
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Question :
The format specifier “-%d” is used for which purpose in C
[image: image299.wmf]A :
Left justifying a string
[image: image300.wmf]B :
Right justifying a string
[image: image301.wmf]C :
Removing a string from the console
[image: image302.wmf]D :
Used for the scope specification of a char[] variable
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